Problem 1

system of equations:

15

lowing

Part A Find the solution set 1o the fol
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pts Part B Consider the system of equations:
xy + 2z + xs = 0
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Asking if this ha a unique solutions is equivalent to which of the following? .
Provide a list on the
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5. The transformation — | -3 -1 2 | & 1s one-to-one
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6. The rows of ’ =3 =1 2 | are linearly independent.
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Part C Find the inverse of the coefficient matrix in part B and use it to solve
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Problem 2
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Problem 3

T
a hinear

el
o
¥ o®
Fow
.4
jao] o
(77 g
& =
v~ )
-l —
Banihet
R
= e
g o
=
w0
[
~ Q.
=
=
SRR
Felie
<
Am §
[ali
g as
o Y
(et
on Rl
=
o,
he
o Q
~=
=
a
s

2

TR S R

)
=7
]
~ g
o e
[
O
« =
C®
w3
Sy
o @
s
P
n
ja R

en reflects it a

transformation.

LY

Jry
€y
ki

{ e

e
4 M
M
ef s

.J[..l...ll\\u
-
L e
e il

v
T

s

o

s — 1
ELA
k3
§ e
M
w.‘l&)

i

e

W g

ol o
S

r‘x\\\

el

1

e}
o+
Y4 g
Y -
> g
o~
¥
* Fali

a standard matrix.
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Part C Is T one-te-one and onto?

Justify vour answer, of course.
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Problem 4
Part A Let 4 be an n x n matrix whose columns are independent. Show that

the columns of A7 span R™.
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Part B How many pivol columns must a 7 x 5 matrix have if its columns are r . -
linearly independent? Why? VL
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Part C Find the value of
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i Problem 5 Mark the following True or False.
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